
Y Y

X

X

A

B

C

D

E

87654321

Copyright Casemet. Unauthorized use and distribution of this document is strictly prohibited.

280

355

25
5

300
360

20
0

19
7 

op
en

in
g

297 opening

37.5

12
.5

23
0

340

15
0

11

150

16
0

18
0

50

2

12
0

260
280

50

18
0

PLe23.7.181.A

Appr.ByDateDescriptionID

Casemet Oy

VFEP302015ACode:

Cubo VRef:

ADrw No:

Replaced:Enclosure VFEP302015A

Replaces:

Ctrl1 (1)Sheet No:

CheckedA3
PLeBy1:5
23.7.18DateScale

Weight
[g]/pcsPcsDescriptionCodePart

01Base VFEP302015PPE190071

04DIN125 M6 A4 WasherPUA842

04DIN912 M6x20 A4 hex socket screwPLF333

01Lid VFE3020PPE191044

01Mounting Plate V3020PPE192045

Material: Mild steel Casemet Material:

Surface
Treatment: Color: RAL7035S Weight

 [g] 3500

 IS
O

 2
76

8-
C

 G
EN

ER
AL

 T
O

LE
R

AN
C

ES
 D

IN
 6

93
0-

C
 S

TA
M

PE
D

 S
TE

EL
 P

AR
TS

 IS
O

 1
39

20
-B

G
 W

EL
D

IN
G

S
 L

IN
EA

R
 A

N
D

 A
N

G
U

LA
R

 D
IM

EN
SI

O
N

S
 F

LA
T 

SU
R

FA
C

ES
 / 

BE
N

D
IN

G
S

 W
EL

D
ED

 C
O

N
ST

R
U

C
TI

O
N

S
M

od
el

D
ra

w
in

g
VF

EP
30

20
15

A.
dr

w

M6x12
weld stud

M6x15
weld stud

Y-Y

M5x14
internal thread

weld stud

X-X


	Sheet 1
	Views
	new_view_1
	bottom_2
	right_3
	top_4
	left_5
	left_7



